3 RAIL FENCING - GATE ASSEMBLY GUIDE

3 RAIL FENCING - GATE ASSEMBLY GUIDE

Material List

ltem QTY

Top Cap 2

1300mmH Gate Side Frame 2

/-'/ l 1783mmW Horizontal Rails Top & Mid 2

é Insert cross member into the gate side frame at bottom side {same side frame Ihal horizontal rails have already been inserted)
If gate widih to remain at 1800mm, na adjustment to cross member required
IF gate widih adjusiment required, insert cross rail into botiom slot hole only and refer lo Step 3.

NOTE: ensure cross member slot is at bottom of side frame.

1783mmW Horizontal Rail with Aluminium Insert 1
1950mmW Cross Member 1
16mm Small Plugs 2
50mm Screws -]
25mm Screws -]
20mm Screws 2
IF ADJUSTING GATE WIDTH
|
|
i
Horizonlal 1ail with aluminivm x |
insert musl be posilionad in - -
bottom slot If adjusting gate width: to calculate required horizonial rail length, take
gale widlh ‘x’ [outer edge lo edge of gala side frame} and minus 17mm
e g For a gate widlh of 1400mm, cut 3 x horizonial rails to 1383mm

Insert hanzontal rails inta side

Irame which has crass mambar
=hat at botiam e -

IF NO ADJUSTMENT TO GATE WIDTH
(PROCEED TO STEP 6) frag:t cross manbar iria 1gp slst

<

IF ADJUSTMENT TO GATE WIDTH REQUIRED
{REFER STEPS 4 & 5)

Lirg €r3 member ur 1up of othar side of side frame

r
?‘—

j -

& Lay oul side frames and horizontal rails on a Aat bench

Insert horizontal rails into 1 side frame ensuring the 1 rail with the aluminium rail inserl is at the botlom. Push horizontals all the way into the
side frame.

Fit to side frame where cross member slat is at bottom of side frame.
The assembled gate is 1800mm wide. If a smaller width gate is required, horizontal rails may be cut o size:
Formula for cutting 3 x rail widihs: Gate Width (outer edge to edge of gate side frame) MINUS 17mm.

e g Gote widt of 1400mm required means cut 3 x horizonlal rails to 1383mm
{NOTE: bottom rail has aluminium insert - use an blade suitable for cutting

é If gate width remaining at 1800mm wide:
Insert horizontal rails and cross member into other side frame.
Ensure horizontal rails are pushed all the way in
Proceed fo Step 6

If gate width to be adjusted:

Insert 3 x horizontal rails into gate side frame and position cross member to lay in position above slot hole then refer Step 4




3 RAIL FENCING - GATE ASSEMBLY GUIDE

3 RAIL FENCING - GATE ASSEMBLY GUIDE

15men.

Hark line
for culting

6 Only applies if gate width ta be adjusted.
Posilion cross member lo where it would fit into required slot but rest of top of gate side frame.
Ensure horizontal rails are fully pushed in on both sides and cross member is fully pushed in on inseried side

On cross member, mark where gate side frame meels and then measure and mark 15mm in

TOP RAIL

¥

Remova cross-member and 1
cutlo langth along fine ‘//’

é Screw top rail inlo place inside side frame using 3 x 25mm screws,

Top plote is supplied fixed in posilion in side frame with holes pre-drilled for fixing through. Repeal on other side

é Only applies if gate width adjusted.
Remove cross member and cul the marked side only using drop-saw or hand-sow.
Remove gale side frame from Ihis side only and re-install the 3 x horizontal rails and cross member into slot holes on gale side frame
IMPORTANT NOTE: ** IF GATE WIDTH 1200mm OR LESS: The angle of Ihe cross member increases the shorler Ihe width. The slot

hales in the side frames will need lo be made slightly larger in heighl due lo Ihe increased angle. A slondard small hand-saw may be used lo
increase slot hole size as required

Watk and didl bea Tonm diamater holey
 vtaginrad aynr crass mamber  mid mil inte i

nly drill hrough frant syrface of cross member.

Drilt 16mm hole on top/front surface only. Do
not drill 16mm hale on inner surfaca.

BOTTOM RAIL ¢

Alfix screws in verlicol cenire of botiom
rail and hanzoatul centre of sida [ramo

1 Cross member requires fixing off o middle horizontal rail.
Where the cross member intersects the middle horizontal rail, drill 2 x 16mm hales through front surface of cross member only

Through the 2 x hales, screw Ihe boltom surface of the cross member to Ihe horizontal rail using 2 x 20mm screws

[

-

.. *

i N

é Ensure gate square. TIP - measure diagonals ensuring lhe same measurement
Screw fix off botiom rail through gate side frames using 1 x 50mm screw each side
Affix both sides al midpoint of bottom roil height and cenire of posi

é Plug ihe 2 x 16mm holes wilh large plugs
Press in both top caps



3 RAIL FENCING - GATE ASSEMBLY GUIDE

& The cross member must be fixed off at halh ends. Drill 2.5mm pilot holes 8mm in from edge of gale side frame
Fix off al boilom and lop side of cross member using 2 x 50mm screws,

NOTE: Hole positioning must be accurate

185mm
HINGE SIDE LATCH SIDE
B
Aluminium inserls - install hinges and } / {
latches at these locations ta ensure
full strength
|
200mm
25mm

& HINGE AND LATCH INSTALL

Note lhere are aluminium inserts located for screw fixing of hinge and lotches. Position hinge and laiches ta ensure fixings penetrate
PYC frame and olso into aluminium inserts

NOTE: Upon installation, hinges are to be installed to the gate side frame with the cross member at its lowest point.




